CODE : 9076 (SET-A)

1.

Electrostatic lines of force do not form closed
loops, as electrostatic field is a conservative field.

1
Electric field due to short dipole varies as E o —
r

1 1
For point charge E r_2 ,Forline charge E -

For large sheet g (0

When the Gaussian surface encloses no charge,
then the electric flux through that surface is zero.
Electric field over the Gaussian surface need not
be zero at every point on that surface.
Conservation of energy

k 1
lmvzzﬂl I’OC—2
2 r v

nh=4r

dV = —E - dx
Ix: dv=-[340x°dx, v, -V, =-160V
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L Ix yL L
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Change on outer surface of A and C
_ -3C+4C+5C _

2
x+3=-3C,x=-6C; y=-x,=6C

3C

1T 1
V=I<Q(E—;] =9x10°x10°(2-1), =9 volt.

SOLUTION : DANGAL#05

10.

M.

12

13.

14.

15.

16.

17.
18.

19.

DANGAL vEsT SERIES
for NEET-2025 ; st “1

W™ = -a(% -V, )

=160x10"° =2x10°(V, -V,

=V, -V, =80V, =V, -V, =-80V

¢E — qnet _ 8(_)1

€
. K KnCcv 2

n3r
Equipotential surfaces are denser in strong field
while they are rarer in weak electric field.
They never intersect
Electric field lines touches them normally
Potential for conducting solid sphere on
surface is same as that at any point inside.

Q ._a _ o4nR’?
dme R 4mer’  4neR

o4nr’

4mg r

=2 R+n)
8()

Number of electrons, to be removed from silver

doller, n= a_ 24C

——— = 15x10"
e 16x107°C

Fact
Distribution of charge on outer surface will not
effect.

y

P(2m, 4 m)

X

Work done in moving from 0 to A
W, = [ g€ dy = [ 4ydy = 32)
Work done in moving from Ato P
W, = [2 qE dx = |2 2xdx = 4

-, het work done=32+4=36J
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kop 26. Fordiamagneticsub stances, the magnetic
F=—0V
20. r susceptibility is negative and it is independent
) q 3q 3q of temperature.
Final changes, q, = E;qB = T'qc = s
Net force on C,
3q)’ 3
) G
B 4 2/\ 4
< o(/2p (/2
2
36ka®  3kq? 3k 3 57 —A—=40x10"°
= - =_=-"F 2(2C)
16r>  2r 4 v 4
2
7 22 Extov/m 9 _160x10°
Ar C
22.  Time varying electric field produces a magnetic = q® =10x107° x160x 107
field.
= q=40uC ::>qC1 =%
2q(aV2) 2q(aV?2)
2029 Ag k 3Ae Kk
C = =C =
28. d d
23. 3
—-2q —-2q l
q q(2a) 2Ag k 3Ag Kk
= - =
— A A ’ 2d ’ d
Pnet,(4qa - 2qa)J = 2qa] 3
24.  Let C, is the effective capacitance. cc, 3A¢ K
off T~ L~ off
S O O N W IO - ¢ +C, 2d
¢ ¢ ¢ G 3 6 12777 7 A
€
Charge on C,=Charge on C, 29. Effective area of capacitoris A;; C= od !
G Vv,=CV
e,Ak €,AKkE
12 c =20 _ )
cy x4 30. 2d, = gq=CE= A 2d,
V,=—=-=7__ —ay
G, 6 5uF
+] | +| |
L [ I
25.  Radius of circular path, r = > 30uC
31
Magnetic moment [ K} [,
il l12v "6V

M =112 (—]) +'§%(—f) = 1%

U+ W, =U.+ Heat

2
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2, L . M=mL 39. The magnetic field lines in the hole will be from
, North pole to South pole where as the magnetic
/—R\ M=m2R field lines in the magnet will be form South pole
L to North pole. Therefore the net magnetic field
=m2 (—j lines inside the magnet get increase. Which results
T in the decrease of the net pole strength which
_ EmL _2™M result in the decrease in magnitude of magnetic
T T momentum.
10-V, 20-V, 30-V, 40-V
33. At A+ A4 A=0 0. M
C C C C L
4V, =100 = V, =25V q
35.  Unitis amp-m? 2m
6 C= A80k = ix mvR = —qVR
) d 2m
1 41. Beyond Curie temperature, ferromagnetic
U= 5% substance becomes paramagnetic.
. 42.  According to Wein, ferromagnetism arises due to
— remains same . . . .
g decrease interaction of spin of electrons of one atom with
- . .
. that of neighbouring atoms.
U — increase
37 Fact 43. 'V, =1000V
Ke A 4xg A
Now C=—2—= 0 =2C,
2d
VO
C,V,=2C, x V' . V' =—=500V
38. 2
44. §B-dS=pm_,
M,=M,=M £
Resultant magnetic moment =M 45, Ejecnic = f

M?= M2+ M?+ 2MM cosd

1
cosd = -5 = ¢ =120°

0 =180° - 120° = 60°
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Answer-Key

1. 4 2 1 3. 4 4 4 5. 4 6. 1 7. 4 8 2 9 4 10. 4
. 2 12. 1 13. 3 14. 4 15. 2 16. 2 17. 3 18. 3 19. 2 20. 2
2. 4 22, 4 23. 1 24, 2 25. 1 26. 4 27. 2 28. 1 29. 2 30. 4
31. 2 32. 4 33. 2 34. 2 35. 4 36. 4 37. 1 38. 1 39. 1 40. 3
M. 2 42, 1 43, 2 44, 2 45, 1 46. 2 47. 2 48. 2 49, 4 50. 3
5. 4 52. 2 53. 2 54, 3 55. 4 56. 4 57. 1 58. 2 59. 2 60. 2
61. 3 62. 3 63. 2 64. 4 65. 2 66. 4 67. 3 68. 2 69. 1 70. 4
. 3 72. 1 73. 2 74. 4 75. 4 76. 4 77. 2 78. 4 79. 3 80. 4
81. 1 82. 2 83. 3 84. 4 85. 4 86. 4 87. 4 88. 4 89. 2 90. 1
9. 3 92, 3 93. 2 94, 2 95. 2 96. 2 97. 2 98. 4 29. 3 100. 2
101. 3 102. 4 103. 3 104. 3 105. 3 106. 3 107. 2 108. 2 109. 2 1mM0. 3
m. 4 12. 1 mn3. 3 14. 1 15. 2 me. 4 1n7. 4 8. 4 19. 1 120. 1
121. 3 122. 4 123. 2 124. 1 125. 3 126. 3 127. 2 128. 3 129. 3 130. 2
131. 3 132. 3 133. 2 134. 1 135. 3 136. 4 137. 2 138. 4 139. 2 140. 3
141. 1 142. 2 143. 1 144. 3 145. 1 146. 4 147. 3 148. 1 149. 1 150. 3
151. 4 152. 1 153. 1 154. 2 155. 3 156. 1 157. 2 158. 4 159. 2 160. 1
161. 2 162. 2 163. 1 164. 3 165. 1 166. 1 167. 2 168. 2 169. 4 170. 2
171. 3 172. 3 173. 3 174. 1 175. 2 176. 3 177. 1 178. 2 179. 2 180. 2
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9.  Conservation of energy

1.

W;i(gernal _ _q(VP _ VQ)
=160x10"° =2x10°(V, -V,
=V, -V, =80V

=V, -V, =-80V

¢E — qnet — 8(_)1

€
2
v % _knev_ 5

n3r
Distribution of charge on outer surface will not
effect.

y

P(2 m, 4 m)

X

Work done in moving from 0 to A
W, =[5 g€, dy = [ 4ydy = 32]
Work done in moving from Ato P
W, = [2 qE dx = |2 2xdx = 4

- net workdone=32+4=36J

1
Electric field due to short dipole varies as E < r_3

1
For point charge E )

. 1
For line charge E o . For large sheet g . (0

When the Gaussian surface encloses no charge,
then the electric flux through that surface is zero.
Electric field over the Gaussian surface need not
be zero at every point on that surface.

10.

n.

12

13.

L S

—mv roc
2 r v2
2

(VJ
r 2
—= =r,=4r

2 1

r1 \Y

Let C, is the effective capacitance.

T 1 1 1 1 1 1 12
—=—t—t+t—=-t+t—-+— - C =—uF
¢ ¢ ¢ G 3 6 12 s 7
Charge on C,=Charge on C,

cV E><14
C,V,=C V=V, = -7 -4V

C, 6

L
Radius of circular path, r = 5

Magnetic moment
o 2 3 Inl? [ » 23 Inl? »
M =L (—J)+EZ(—|)——IL j—?l

Fordiamagneticsub stances, the magnetic

susceptibility is negative and it is independent

of temperature.
o—I—=—
5uF
+] | d i
I [
30uC
T &) I
l12 v 6V

U+ W, =U.+ Heat

%(5)(12)2 —-6x30= %(5)(6)2 + Heat
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4. L . M=mL 22. Beyond Curie temperature, ferromagnetic

; substance becomes paramagnetic.
m M=m2R 23.  According to Wein, ferromagnetism arises due to
) interaction of spin of electrons of one atom with
=m?2 [Lj - sz _M that of neighbouring atoms.
Yo E 24V, =1000V
s 10V, 20—V, 30-V, 40—V, o e A dxeA
C C C C Now C=—2—= 2d0 =2C,
4V, =100
VA =25V CoVo = ZCO xV' V= % =500V
S 2
__________ ’ 2(qzc) =40x10°°)
N
.... 0 qz .

6. e — 7 S——— | = 160x10

M=% s N

=g’ =10x10"° x160x10° = q=40uC

M,=M,=M q

Resultant magnetic moment =M =qc = 5

M?= M? + M?+ 2MM cosd

1 C - Ag k C = 3Ag k

cosf = -5 = ¢ =120° %  d 'od

6 =180° - 120° = 60° 3
17.  The magnetic field lines in the hole will be from 2Ag k 3Ag k

North pole to South pole where as the magnetic C = 2d =% = d

field lines in the magnet will be form South pole 3

to North pole. Therefore the net magnetic field

lines inside the magnet get increase. Which results C. = i =C. = 3Ag.k

eff eff
in the decrease of the net pole strength which C+G 20

result in the decrease in magnitude of magnetic | 27.  Effective area of capacitor is A,

momentum. e A
C — 0"
d
L 2m i 2m aoAkz
19.  Unitis amp-m g C=2-2
2d,
AS k 1 q2 _
20. C=— U=——" q=CE
d 2C
; soAsz
g — remains same q :—d
C — decrease U — increase 24,
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ke 37. Potential for conducting solid sphere on surface
2. F= JERRl is same as that at any point inside.
4nR*> oc4nr’ ©
i q . 3q 3q V = Q + q = S + [ R +r
Final changes, q, = Equ = quc 1 38. 4ne R 4mer  4mg R 4mer g R+1)
Net force on C, 39. Number of electrons, to be removed from silver
2
k(?»q] k(q) [3’(1) doller, n= a_ Lcw =15x10"
4 2L 4 € 16x10°C
¢~ 2 2 I
(r/2) (r/2) 40. dV=—E-dx:>IxA dV = -J? 40x°dx
36kg®  3kq’ 3kg® 3 _
_ ? _ i ) =_12=_F V, =V, =-160V
1er 2r 4 r 4
KQg , KQq  Kg’
+ + =0
30. EZAA—V.'.E21OV/m ALY S
r
31.  Time varying electric field produces a magnetic
: Q(v2+1) a2
field. — - g=>Q=-
V2 V241
20029 -3C  4C  5C
32 & >
-2q -2q
4 42,
2q(aV2) A 2 5 Lx yL [ |
q(aV2) A B C
Change on outer surface of A and C
—-3C+4C+5C
=, %
2
va(2a) x+3=-3C =>x=-6C
P...(492—2qa)] = 2qaj y=-x=6C
. 1T 1
4. $B-dS=pom, 3. V= KQ(E—;] =9x10° x10°(2-1) =9 volt.
E
35 Eyeectic =r° 44. Electrostatic lines of force do not form closed
3. Equipotential surfaces are denser in strong field loops, as electrostatic field is a conservative field.
while they are rarer in weak electric field.
They never intersect
Electric field lines touches them normally
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/) DANGAL 7esT SERIES . CODE : 9077 (SET-B)
(GR) /- NEET-2025 SOLUTION : DANGAL3#05

Answer-Key

1 4 2 2 3 1 4 3 5. 3 6. 2 7. 4 8. 4 9. 4 10. 2
1. 1 12. 4 1B3. 2 14. 4 15. 2 16. 1 7. 1 18. 3 19. 4 20. 4
21. 1 22. 2 23. 1 24. 2 25. 2 26. 1 27. 2 28. 4 29. 2 30. 4
31. 4 32, 1 33. 2 34, 2 35. 1 36. 3 37. 4 38. 2 39. 2 40. 1
4. 4 42, 2 43, 4 44, 4 45, 1 46. 2 47. 3 48. 4 49, 2 50. 4
51. 2 52. 4 53. 3 54. 1 55. 2 56. 4 57. 1 58. 2 59. 4 60. 4
61 4 62. 3 63. 4 64. 4 65. 2 66. 4 67. 3 68. 4 69. 3 70. 2
n. 1 72. 2 73. 2 74. 3 75. 4 76. 2 77. 2 78. 3 79. 3 80. 2
81. 1 82. 4 83. 4 84. 4 85. 1 86. 4 87. 2 88. 2 89. 2 20. 4
91. 2 92. 3 93. 4 94. 3 95. 2 96. 2 97. 1 98. 3 929. 1 100. 4
101. 1 102. 1 103. 2 104. 3 105. 3 106. 2 107. 1 108. 3 109. 2 1M0. 2
m. 2 1M2. 3 m3. 3 m4a. 2 115. 1 1m6. 3 mn7. 3 1m8. 2 1m9. 3 120. 3
121. 3 122. 4 123. 2 124. 2 125. 4 126. 4 127. 2 128. 3 129. 4 130. 3
131. 3 132. 3 133. 2 134. 4 135. 3 136. 4 137. 3 138. 1 139. 3 140. 1
1. 2 142. 3 143. 1 144. 1 145. 3 146. 1 147. 2 148. 2 149. 3 150. 1
151. 1 152. 1 153. 2 154. 2 155. 2 156. 1 157. 2 158. 3 159. 3 160. 2
161. 2 162. 2 163. 3 164. 1 165. 2 166. 2 167. 4 168. 4 169. 2 170. 1
171. 1 172. 3 173. 4 174. 2 175. 1 176. 3 177. 1 178. 4 179. 2 180. 4

I
je)
~
T
Q
3
3
0
~+
>
0O
>
0
prd
C
35
<
[0}
o
<
Q
3

[de]
u

o
3
Q
A
o]
0
o
]
=
e}
S

~~
A

Kel
Q
n
+
>
Q
3

N~
1Y)
>
(@)
=
4
N
o
n
al
[4)
[
o
o



	SOLUTION_NEET_DANGAL#05 (SET-A).pdf (p.1-4)
	SOLUTION_NEET_DANGAL#05 (SET-B).pdf (p.5-8)

